
-- 1 --

RANGER HORN KIT
KIT P/N 2875048
Application

2005 Ranger

Before you begin, read these instructions and check to be sure all parts and tools are accounted for.

Please retain these installation instructions for future reference and parts ordering information.

This Kit Contains:

Qty. Part Description Part No.

1 Horn 4011408. . . . . . . . . . . . . . . . . . . . . . . . . . .

1 Switch 4010652. . . . . . . . . . . . . . . . . . . . . . . . .
1 Wire Harness 2410517. . . . . . . . . . . . . . . . . . .

1 1/4”--20 x 3/4” Bolt 7512283. . . . . . . . . . . . . . .
1 1/4”-- 20 Flange Nut 7542153. . . . . . . . . . . . . .

2 Panduit Strap 7080138. . . . . . . . . . . . . . . . . . .

1 Instructions 9919464. . . . . . . . . . . . . . . . . . . . .

You Will Need to Supply:

Drill 3/4” Hole Saw 1/4” Drill Bit
Standard Socket Set Standard Wrench Set

IMPORTANT: For your safety, and to ensure a satisfactory installation, perform all installation steps correctly
in the sequence shown.

IMPORTANT: Your Polaris Ranger horn is exclusively designed for your vehicle. Please read the instal-
lation instructions thoroughly before beginning. Installation of any item is easier if the vehicle is clean and
free of debris.

INSTALLATION INSTRUCTIONS

1. Refer to illustration. Drill a 3/4” hole for the switch.
IMPORTANT: Take care, when drilling, that
components behind the dash are not damaged.

2. Remove the locking washer and nut from the
switch and slip the nut and then the washer over
the harness wires for the switch.

3. Route the harness from under the hood through
the hole drilled in step 1.

4. Connect the harness to the switch terminals.

5. Insert the switch into the dash and secure it with
the washer and nut removed in step 2.



-- 2 --

6. Refer to illustration. Using the horn (opening
facing downwards) as a template, mark and
drill two 1/4” holes for the horn mount bracket
on the driver’s side dash support plate. One
hole is for the locating tab on the bracket.
NOTE: Ensure that the horn does not contact
any item under the hood.

7. From the inside of the hood support beam,
push a 1/4” bolt through the horn mounting
hole. Fasten the horn to the hood support
beam using a 1/4” nut.
NOTE: Horn bracket may need to be adusted
to obtain the orientation shown by loosening the
nut on back.

8. Connect the harness to the horn.

9. Connect the harness to the accessory terminal
block located to the side of the battery.

Power: Bottom Terminal
Ground: Middle Terminal

10. Test the horn for operation.

11. Secure the horn harness with the included
panduit straps.

P/N 9919464 Rev 03 03/05


